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Instructions for the Candidates
1. Write your roll number in the space provided on the top of this page.
2. This paper consists of seventy five multiple-choice type of questions.
3. Atthe commencement of examination, the question booklet will
be given to you. In the first 5 minutes, you are requested to
open the booklet and compulsorily examine it as below :

(i) To have access to the Question Booklet, tear off the paper
seal on the edge of this cover page. Do not accept a booklet
without sticker-seal and do not accept an open booklet.
Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the Question
Booklet will be replaced nor any extra time will be given.
Each item has four alternative responses marked (A), (B), (C)
and (D). You have to darken the oval as indicated below on the
correct response against each item.

ONON NC)

where (C) is the correct response.

Your responses to the question of Paper Il are to be indicated
in the OMR Sheet kept inside the Booklet. If you mark at any
place other than in the ovals inOMR Answer Sheet, it will not be
evaluated.

Read the instructions given in OMR carefully.

Rough Work is to be done in the end of this booklet.

If you write your name or put any mark on any part of the OMR
Answer Sheet, except for the space allotted for the relevant
entries, which may disclose your identity, you will render yourself
liable to disqualification.

You have to return the test OMR Answer Sheet to the invigilators
at the end of the examination compulsorily and must NOT
carry it with you outside the Examination Hall.

You can take away question booklet and carbon copy of
OMR Answer Sheet soon after the examination.
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PHYSICAL EDUCATION

PAPER - il

Note :

This paper contains seventy-five (75) objective type questions. Each question

carries two (2) marks. All questions are compulsory.

1. The major factors responsible for the
origin of recreational movement in the
U.S.A. were

(A) Immigration on a large scale and
ethnic clashes

(B) Mechanisation of agriculture and
technology

(C) Industrialization and urbanisation
(D) Build up high level of fitness

2. In the Ancient Olympics an event called
Pankration was combined with

(A) Wrestling and boxing

(B) Kicking and choping

(C) Running and throwing

(D) Horse racing and charioting

3. Which is the end product of Kreb’s cycle ?
(A) Carbon Monoxide
(B) Carbon
(C) Carbon dioxide
(D) Carbon peroxide

4. Mitochondrial number and size increases
due to training in

(A) Hypoxic environment

(B) Hot environment

(C) Hot and humid environment
(D) Hyper baric environment
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5.

The parameter which effect most to cover
greater distance in putting shot is

(A) Release velocity

(B) Acceleration velocity
(C) Speed

(D) Height

Imaginary lines in the space which
describes the location of the body

(A) Planes

(B) Axes

(C) Linear lines
(D) Vertical lines

Curricular conception emerge from and
enter into

(A) Theory

(B) Human interaction

(C) Practices

(D) Inter personnel relationships

. A growth period where children play and

do mischief

(A) Gang Age
(B) Child Age
(C) Adult Age
(D) Youth Age

Hepatitis, is an infection of
(A) Gall blader

(B) Liver

(C) Kidney

(D) Pancreas
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10. Fatal viral infection of central nervous
system is observed in

(A) AIDS

(B) TETANUS
(C) Malaria
(D) RABIES

11. Formative evaluation is
(A) Summative evaluation

(B) Grading at the end of the
programme

(C) Evaluation of information through out
the Unit of instruction

(D) Evaluation of information at the end
of a unit of instruction

12. The two major components of training
load are

(A) Continuity and recovery
(B) Intensity and volume

(C) Specificity and volume
(D) Intensity and progression

13. Brain storming technique was originally
developed by

(A) Alex Osborn
(B) Alex Stewart
(C) Alex Knot
(D) Alex Spine

14. Vertical differentiation refers to
(A) different parts of the group

(B) number of hierarchical levels in
organisation

(C) graphical separation
(D) various parts of the organisation
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15. Content validity aim to measure

(A) What student have learned in a
class

(B) Future performance
(C) Ability in questioning

(D) Know relation of a test with other test

16. The following are the physical
characteristic of ectomorph

(A) Hard body, round physique,
rectangular shaped

(B) Delicate built body, lean and small
shouldered

(C) Thik skin, lean and small
shouldered

(D) Excellent posture, fragile and round
shaped

17. The factors which effect the weakening
of personality traits are

(A) Internal and external motives
(B) Environmental pressures
(C) Emotionality and sentimentality

(D) Education and experience

18. Negatively skewed curve denotes
greater number of

(A) low scores
(B) high scores
(C) middle scores

(D) zero scores
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19. A tentative organisation of known facts
in a field of knowledge into a sort of clear
and scientific research question is
referred to as

(A) theory

(B) hypothesis
(C) paradigm

(D) generalisation

20. The idia of putting up a literature review
in the research report is to

(A) substantiate research hypothesis

(B) show depth of knowledge, wisdom
and erudition

(C) make a critical and balanced
analysis of the research questions

(D) apprise the reader of what others
have already been done

21. Variance is the square of
(A) Average deviation
(B) Range
(C) Median
(D) Standard deviation

22. Which ergogenic acid helps to produce
more red blood cells and hemoglobin ?

I) Blood doping
Il) Erythropoietin
[l) Stimulants
IV) Adrogenic steroids
Find the correct combination.
Codes :
(A) I, land IV
(B) landlll
(C) llandlll
(D) land |l
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23. In the sprinting the leg action involves
[) Hip extension and hyper extension
[) Plantar extension
lI) Knee extension
IV) Plantar flexion

Find the correct combination.

Codes :

(A) I, 1land IlI
(B) I, Mand IV
(©) ILlland IV
(D) lland IV

24. |dentify the first class levers in the
following :

[) Wheel barrow

[) Triceps acting to extend the elbow
overhead

lII) The posterior calf muscle working to
plantar flex the ankle

IV) A crow bar
Find the correct combination.

Codes :

(A) L llland IV
(B) Il 1andlll
(C) andll
(D) I, Nland IV

25. The benefits of Vitamin E are
[) Protects brain
I) Protects liver
[I) Help in reproduction
IV) Protect the lipids of cell membrane

Find the correct combination.

Codes :

(A) LITand IV (B) L1, Nand IV

(C) IV, llland | (D) I, Nand IV
Paper Il
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26. In 1956 national plan of physical

education is aimed to promote

I) Professional courses in physical

education

Il) Physical education as an optional

subject in high schools

[Il) Physical education at various levels

of education

IV) Yoga in schools

Find the correct combination.

Codes :

(A) 11, llland IV
(B) I, 1land IIl

(C) Land IV
(D) I, 11and IV

27. Principles of tactical preparation
I) Top down approach
ll) Theory-practice combination
lIl) Formulating competition planes
)

IV) Qualities of competition

Find the correct combination.

Codes :

(A) N, lTand |

(B) I, lland IV

(C) IV, lland |

(D) II, land IV
K-2013
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28. Scott motor ability test consists of

l) Basket ball throw
[l) Shuttle run

llI) Long jump
IV) Obstacle race

Find the correct combination.

Codes :

(A) 1, llland |

(B) I, llland IV
(C) IV, lland

(D) I, lland IV

29. 1.0.C. is governed by three bodies

[) Treasurer

[1) Executive board
lll) The session
IV) The president

Find the correct combination.

Codes :

(A) I, 1land IlI

(B) I, land IV
©) I, lland IV
(D) I, Nand IV

30. Colours of the inter locked rings in the

Olympic symbol
[) Blue
[l) Orange
ll) Black
IV) Purple
Find the correct combination.

Codes :

(A) Il Nland |
(B) land Il
(C) LIVandlil
(D) Nandlll
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31. Barrow motor ability test items are
I) Standing broad jump
I) Zigzag run
[ll) Obstacle race
IV) Medicine ball put

Find correct combination.

Codes :
(A) I, ITand I (B) 1, lland IV
(©) Lland IV (D) I, llland IV

32. A teacher who has concern about his
pupil should be

I) Helpful
Il) Genuine
lIl) Friendly
IV) Punishing
Choose the correct combination.

Codes :
(A) I, land IV
(©) ILland IV

(B) 1, 1land Ill
(D) 11, Il and IV

33. Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R).

Assertion (A) : Acclimatization is
essential for high sports
performance.

Reason (R) : Achievement in sports is

impossible without
acclimatization.

In context of the above two statements,
which one of the following is correct ?
Codes :

(A) (A) is correct (R) is false

(B) Both (A) and (R) are true

(C) Both (A) and (R) are true but (R) is

not the correct explanation of (A)
(D) (R) is correct and (A) is false
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34. Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R).

Assertion (A) : The tremendous progress
in the sphere of cultures
and civilizations has been
the result of mans high
thinking ability.

Reason (R) : ltis said that every human
being born is either fool or

philosopher.

In context of the above two statements,
which one of the following is correct ?

Codes :
(A) Both (A) and (R) are false
(B) (A) is correct (R) is false
(C) (R) is correct (A) is false
(D) Both (A) and (R) are correct

35. Given below are two statements one
labelled as Assertion (A) and the other
labelled as Reason (R).

Assertion (A) : Examples of disordered
eating habits are fasting,
bringe eating, purging
etc.

Reason (R) : Aorexia nervosa, is an
eating disorder
characterised by
immoderate food
restrictions and fear of

loosing weight.

In the context of the above statements
which one of the following is correct ?
Codes :

(A) (A) is true and (R) is false

(B) Both (A) and (R) are correct

(C) (A) is correct and (R) is correct
explanation of (A)

(D) Both (A) and (R) are false
Paper Il
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36. Given below are two statements one

labelled as Assertion (A) and the other

labelled as Reason (R).

Assertion (A) : Kinematics is the branch
of classical mechanics
that describes the
motion of points body
and system of bodies
without consideration of

course of motion.

Reasoning (R) : Momentum is directly
related to objects, mass

and velocity.

In the context of the above statements
which one of the following is correct ?
Codes :
(A) Both (A) and (R) are true
(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)
(C) Both (A) and (R) are true but (R) is
the correct explanation of (A)

(D) (A) is true (R) is false

(13)

37.

38.
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Given below are two statements one
labelled as Assertion (A) and the other
labelled as Reason (R).

Assertion (A) : Meaningful instructions
purposeful practice and
productive participation
must be carried out in
equal measures.

Timetable can be
neglected at times to
carryout the curricular
activities.

Reason (R) :

In the context of the above statements
which one of the following is correct ?

Codes :
(A) Both (A) and (R) are correct
(B) (A) is correct and (R) is the correct
explanation of (A)
(C) (R)is correctand (A) is false
(D) (A) is correct and (R) is false

Given below are two statements one
labelled as Assertion (A) and the other
labelled as Reason (R).

Assertion (A) : Sports management has
grown up as an academic
field of study.

Reason (R) : Sports management as

an academic, is also
developing as a
profession in all the
countries.

In the context of the above statements
which one of the following is correct ?
Codes :

(A) (A) is correct (R) is false

(B) Both (A) and (R) are true and (R) is

the correct explanation of (A)
(C) (A) is false (R) is correct
(D) Both (A) and (R) are correct
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Given below are the two statements one
labelled as Assertion (A) and the other
labelled as Reason (R).

Assertion (A) : By measurement the
status of the quality to be
measured is determined.

Reason (R) : In measurement, we

make sure rather than
guess or take for
granted.

In the context of the above statements
which one of the following is correct ?
Codes :

(A) Both(A) and(R) are correct but(R)
is not the correct explanation of (A)

(B) Both (A) and (R) are false
(C) (A) is false (R) is correct
(D) Both (A) and (R) are correct

Given below are the two statements one
is labelled as Assertion (A) and the other
is labelled as Reason (R).

Assertion (A) : Sports training by all
means is an individual
affair.

Reason (R) : Sports training is also an

educative affaire.

In the context of the above statements
which one of the following is correct ?
Codes :

(A) Both (A) and (R) are correct

(B) (A) is false (R) is correct

(C) Both (A) and (R) are true, but(R) is

not the correct explanation of (A)
(D) (A) is correct (R) is false

(13)
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Given below are the two statements one
is labelled as Assertion (A) and the other
labelled as Reason (R).

Assertion (A) : The probability of getting
a given number of heads
from four flips is, then
simply the number of
ways that number of
heads can occur, divided
by the number of total
results of flips, 16.

Reason (R) : The probable chances of

two heads are six times.

In the context of the above statements
which one of the following is correct ?

Codes :
(A) (A) is correct (R) is false
(B) (A) is correct and (R) is not the
correct explanation of (A)
(C) Both (A) and (R) are correct
(D) (R) is correct and (A) is false

Given below are two statements one
labelled as Assertion (A) and the other
labelled as Reason (R).

Assertion (A) : Mentally defective
children also do play,
but their play activities
are disorganised.

Reason (R): What is true in case of

clinical patients may not
apply to those who are
normal in their behaviour ?

In the context of the above statement
which one of the following is correct ?
Codes :

(A) Both (A) and (R) are correct

(B) Both(A) and(R) are correct but(R)
is not the correct explanation of (A)

(C) Both (A) and (R) are false
(D) (A) is correct (R) is false
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Given below the two statements one
labelled as Assertion (A) and the other
labelled as Reason (R).

Assertion (A) : Physical education
teachers and coaches
must not overlook the
importance of sentiments
in general and master
sentiments in particular.

Reason (R) : ltis this sentiments which
determine an individuals
behaviour and his social

adjustment.

In the context of the above statement
which one of the following is correct ?

Codes :
(A) Both (A) and (R) are correct
(B) (R)is correct (A) is false
(C) (A) is correct (R) is false
(D) Both (A) and (R) are false

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R).

Assertion (A) : Acommon man, only see
the things or happenings
around him, while a
philosopher sees through
them.

Reason (R): The common man tries to

balance wise after his
experience or through
seeking knowledge.

In the context of the above statement
which one of the following is correct ?
Codes :
(A) Both (A) and (R) are false
(B) Both (A) and (R) are true
(C) (A) is correct (R) is not the correct
explanation of (A)
(D) Both(A) and (R) are correct but (R)
is not the correct explanation of (A)

()
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Given below are two statements, one
labelled as Assertion (A) and another
labelled as (R).

Assertion (A) : Sports and games
propagates the feelings
of nationalism and help
in creating a new
generation of
individuals.

Reason (R) : Sports and games
provides a common
platform, where
sportsmen from different
religion, faith,

languages, customs,
traditions, group together
as an homogeneous
group.

In the context of the above statements
which one of the following is correct ?
Codes :

(A) Both (A) and (R) are correct

(B) Both (A) and (R) are false

(C) (R) is correct (A) is false

(D) (A) is correct (R) is false

Arrange the following bones in order in
which they contributes far ideal
alignment of lower extremity segments ?

[) Calcaneus

) Femur
lll) Tibia
IV) Talus
Codes :
(A) 1,1V, llland |
(B) IL 1, 1Vandl
(C) LI, lland IV
(D) I, 1, 1IVandlll
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47. Find the correct sequence of factors
influencing projectile motion.

(A) Trajectory, maximum height,
vertical velocity and horizontal
velocity

(B) Trajectory, maximum height, flight
time and horizontal velocity

(C) Flight time, maximum height,
vertical velocity and horizontal
velocity

(D) Flight time, maximum height,
horizontal velocity and vertical
velocity

48. Arrange the following in their

chronological appearance.
I) Skill masters

Il) Physical education teacher

[I) Drill masters
)

IV) Vyayam shikshaks

Codes :

(A) LIV, Tand
(B) LI 1Vandll
(C) nL 1, IVandll
(D) L1V, llland 1l

49. Arrange the sequence of pulse counting
in Harvard step test in minutes.

(A) 102,210 2 12,3t03.15
(B) 1t01.15,1.15t02.30, 3t0 3.15

(C) 11011),2102.15,3103 1

1 1 1
(D) 1to 1 2,zt02/,3t034

K-2013
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50. Arrange the sequence of four presidents
of Indian Olympic Association are
(A) Raja Balinder Singh, V. C. Shukla,
B. S. Adityan, D. J. Tata
(B) D. J. Tata, Bhupinder Singh,
Yadavendra Singh, Balinder Singh
(C) R. J. Tata, Balinder Singh,
Yadavendra Singh, Bhupinder Singh

(D) Bhupinder Singh, Yadavendra
Singh, D. J. Tata, Balinder Singh

51. Select the correct pairs that is not
correctly matched.

(A) National Council of Teacher
Education — 1994

(B) National Institutes of Sports — 1961
(C) L. N. C. P. E. Gwaliar — 1957

(D) Y. M. C. A. College of Physical
Education — 1920

52. The health related physical fithess
components are

(A) Body composition, strength,
flexibility, speed

(B) Body composition, strength,
flexibility, power

(C) Body composition, endurance,
flexibility, agility

(D) Body composition, flexibility,

endurance, strength
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53. Which pair of the following is not correctly
matched ?

(A) Common physical hazard in
industry — Heat

(B) Physical hazard caused by poor
and excessive illumination — Light

(C) Conservative ideas or beliefs
concerning life styles —
Psychological hazard

(D) The environmental hazard
houses the deseart to
expand — Soil erosion

54. Which of the following pair is not correctly
matched ?

(A) Recovery oxygen — Alactocid
phase

(B) P-oxydation — Fatty acid
(C) Altitude — Dehydration
(D) Cold environment — Frost bite

55. Which of the following pair is not correctly
matched ?

(A) The force responsible for
continually forcing the rotating
object to fallow circular path —
Centrifugal force

(B) The force created between two
contacting surfaces that tend to rub
or slide each other — Friction force

(C) For every force applied by one body
on a second body, applies an equal
and apparithy directed force —
Reaction force

(D) The diver in swimming is the best
example for — Linear and angular
motion
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56. Match List — | with List — Il by using the
code given below :

List—1 List-1I
[) Conditional 1) Excellent
response physique
I) Cognitive theory 2) Round
physique
[Il) Mesomorph 3) Natural
IV) Endomorph 4) Lack of

generalization
5) Small shoulder

Codes :
I [ Il v
(A) 4 1 3 2
(B) 2 1 4 3
(C) 2 1 3 4
(D) 3 4 1 2

57. Match List — I with List — Il by using the
code given below :

List—1 List—1I
[) Rome 1) Learning through
physical activity
Il) Dark age 2) The skill for war
fare
[Ill) Middle age 3) To remain strong
and secure
IV) Renaissance 4) Display of

physical prowess

Codes :
I [ Il v
(A) 4 3 2 1
(B) 3 2 4 1
(©) 1 3 4 2
(D) 2 4 3 1
Paper Il
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58. Match List — | with List — Il by using the
code given below :

List-1 List—1I
[) Calcium 1) Bones and teeth
Il) Phosphorous 2) Hemoglobin
ll) lodine 3) Muscle
contraction
V) Iron 4) Electrolyte
balance
5) Thyroxin
Codes :
I I 1] \Y
(A) 3 4 2 1
(B) 1 2 3 4
(©) 5 3 1 2
(D) 3 1 5 2

59. Match List — I with List — Il by using the
code given below :

List-1
[) Contrast bath

List—1I
1) Used to reduce
swelling without
any medicine

Il) Elevation 2) Systematic
manipulation of
body tissues

lIl) Message 3) Helps in reducing
edema and
restoration range
of motion

IV) Rehabilitation 4) Restores normal
form and functions
after injury

5) Immediate
recovery

Codes :

I I 1] \Y

(A) 3 1 2 4

(B) 1 2 3 4

(®)] 1 5 2 4

(D) 5 3 1 2
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60. Match List — | with List— |l by using codes

given below :
List-1 List—1I
l) Youths 1) Excellent
oriented
ventures
1) Infants 2) Psychological
turbulence
[Il) Pre-adolescents 3) Rapid growth
IV) Adolescents 4) Basic
movement
pattern
Codes :
I Il Il v
(A) 2 3 4 1
(B) 1 4 3 2
©C) 2 4 3 1
(D) 1 2 3 4

61. Match the List — | with List — Il and select
the correct answer from the codes given

below :
List-1 List-1I
[) Miller wall 1) Football
volley test
[) Stubbs ball 2) Tennis

handling test

lIl) Kovac’s bounce  3) Basket ball

drill test
IV) Broer and 4) Hockey

Miller test

5) Badminton
Codes :
I Il Il v
(A) 4 3 5 2
(B) 3 2 4 1
© 5 3 1 2
(D) 1 4 3 5
Paper Il
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62. Match List — I with List — Il and select the
correct answer from the codes given

below :
List-1 List-1I
(Dronacharya (Events/
Awards) game)
[) Sri Raja Singh 1) Athletics
I) SriK.P. Thomas 2) Boxing

lIl) Sri Narinder Singh 3) Wrestling

Saini
IV) Sri Mahavir Singh  4) Hockey
Codes :
I I I \Y
(A) 2 3 1 4
(B) 4 2 3 1
(C) 3 1 4 2
(D) 3 2 1 4

63. Match List — | with List — Il and select the
correct answer from the codes given

below :
List-1 List—1I
(Stadiums) (Places)
[) Sri K. D. Singh 1) Kanpur
Babu Stadium
I) Sri Dhyanchand  2) Ahamadabad
National stadium
lll) Sri Sardar Patel  3) Delhi
Stadium
IV) Green Park 4) Lucknow
Stadium
Codes :
I I 1] \Y
(A) 2 3 1 4
(B) 4 3 2 1
(©) 1 2 3 4
(D) 3 1 4 2
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64. Match List — | with List— Il and select the
correct answers from the codes given

below :
List—1 List-1I
[) Shot (Men) 1) 7.260 kgs
[l) Discus (Men) 2) 800 grams
[I) Hammer (Women) 3) 4.00 kg
IV) Javelin (Men) 4) 2.00 kg

5) 750 grams

Codes :
I I Il A%
(A) 2 3 4 1
(B) 3 5 6 1
(C) 1 4 3 2
(D) 5 4 3 2

65. Match the List — | with List — Il and select
the correct answer from the codes given

below :
List—1 List-II
l) Kenpa trick 1) Football
) Juggling 2) Basket ball
[IlI) Rim shot 3) Kho-Kho
IV) Net skill 4) Hand ball
5) Badminton
Codes :
I [ Il v
(A) 4 1 2 5
(B) 3 2 4 1
(®)) 5 4 3 2
(D) 5 3 2 4
Paper Il
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66. Match List — | with List — Il and select the
correct answers from the codes given
below :

List-1 List—1I
[) Motor fitness 1) lowa-Brace
Test
Il) Motor educability  2) Rogers P. F.
Test
lIl) Physical fitness test 3) Larson Test
IV) Motor ability test 4) J. C.R. Test
Codes :
I I 1l \Y
(A) 2 3 4 1
(B) 4 2 3 1
(®)] 4 1 2 3
(D) 1 3 4 2

67. Match the List — | with List — Il and select
the correct answers from the codes given
below :

List—1 List-1I
[) Gudsiga 1) Drivers
Il) Biga 2) Chariots fulled
by four horses
lIll) Charioteers 3) Chariots fulled
by two horses
IV) Nike 4) Statue of the
victory
V) Diadumenons  5) Messanger of
the God
Codes :
I I 1] v Vv
(A) 1 2 3 5 4
(B) 2 3 1 5 4
(©) 1 3 2 5 4
(D) 5 3 2 1 4
K-2013
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Match the List — | with List — |l and select
the correct answers from the codes given
below :

List-1 List—1I
I) Olive oil 1) Curved
instrument
) Strigil 2) Athletic use to
cover his body
[ll) Delphi 3) King of gods
IV) Palaestra 4) School of
music
V) Nemea 5) God of light
Codes :
I I 1l v \Y
(A) 2 3 5 4 1
(B) 4 1 5 3 2
(©) 3 4 2 5 1
(D) 2 1 5 4 3

Match the List — | with List — Il and select
the correct answers using the codes
given below :

List—1 List-II
[) Surplus energy 1) S. Freud
theory
I) Anticipatory 2) G. Stanly Hall
theory
[Il) Recreational 3) Carl Groose
theory
IV) Recapitulation 4) G. T.W. Patrick
theory
V) Psycho analytical 5) Herbert
theory Spencer
Codes :
I Il Il v \Y
(A) 5 3 4 2 1
(B) 3 2 4 1 5
(C) 5 4 3 2 1
(D) 3 5 2 4 1
Paper Il
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70. Match the List — | with List — Il and select

the correct answers using the codes

given below :
List—1 List—1II
[) Central nervous 1) Brain and
system spinal cord
Il) Somatic system  2) Controls
organs and
glands

[II) Automatic system 3) Voluntary acts
IV) Sympathetic 4) Mediates

system relaxation

V) Para sympathetic 5) Mediates

system aronsal
Codes :
I Il I \% Vv
(A) 1 5 3 2 4
(B) 1 2 3 4 5
(C) 1 3 2 5 4
(D) 1 2 5 3 4

Read the passage and answer the questions
that follow based on your under standing of

the passage. 71 to 75.

The Paralympic Games is a major
international multi-sport event, involving
athletes with a range of physical and

intellectual disabilities, including mobility

K-2013
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disabilities, amputations, blindness and
cerebral palsy. There are winter and summer
Paralympic Games. Since 1988 Paralympic
games in Seoul, South Korea, are held
immediately following the respective Olympic
Games. All Paralympic games are governed

by the international Paralympic Committee.

The Paralympic have grown from a small
gathering of British World War |l veterans in
1948 to become one of the largest
international sporting events by the early 21t
century. Paralympians strive for equal
treatment with non-disabled Olympic athletes,
but there is a large funding gap between
Olympic and Paralympics athletes. The
Paralympic games are organized in parallel
with the Olympic games, while the 10C-
recognized Special Olympics World Games
include athletes with intellectual disabilities,
and the Deaf Olympics include deaf athletes.
The present formal explanation for the name
“Paralympics” is that it derives from the Greek
preposition ‘gapa’, ‘para’ (“beside” or
“alongside”) and thus refers to a competition
held in parallel with the Olympic games. The
summer games of 1988 held in Seoul was the
first time the term “Paralympics” came into

official use.
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Given the wide variety of disabilities that
Paralympics athletes have, there are several
categories in which the athletes compete. The
allowable disabilities are broken down into
six broad categories. The categories are
amputee, cerebral palsy, intellectual
disability, wheelchair, visually impaired, and
Les Autres (literally “The Others”, which are
athletes with disabilities that do not fall into
the other five categories; these include
dwarfism, multiple sclerosis, and congenital
disorders). These categories are further
broken down into classifications, which vary
from sport to sport. The classification system
has led to cheating controversies revolving
around athletes who over-stated their
disabilities, in addition to the use of
performance-enhancing drugs seen in other

events.

71. The official organisation of Paralympic

games is
(A) International Olympic Committee

(B) Special Paralympic Games

Committee

(C) Paralympic International

Committee

(D) International Paralympic Committee

Total Number of Pages : 32
72. Paralympic games usually organised
(A) Along with Olympic games
(B) Along with Winter Olympic games
(C) Before the Olympic games

(D) After the Olympic games

73. Paralympic was first started in
(A) South Korea
(B) Greek
(C) England
(D) Seoul

74. The number of broad categories of

Paralympic athletics are

(A) 4 - Four
(B) 6 — Six
(C) 5 - Five
(D) 8 — Eight

75. The classification system of Paralympic

athletics led to
(A) Controversies
(B) Drug Abuse
(C) Only (A) is the correct answer

(D) Both (A) and (B) are correct
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